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dividend

divisor

division an operation that tells how many equal groups there are or how many are in
each group.

the number that remains after the division is complete.
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ividend.
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We used 63

= 63.
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She filled 6
boxes. The
remainder can
be ignored
because the
question asked
for the total
number of
boxes to be

4 x 6 =24 We used 24
objects out of the 27.
Subtract 27 - 24 and

there are 3 left over. :

uotient 6 -*
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She used 7

boxes! The
question asks
how many boxes
used altogether.
Because there is
a remainder,
add 1 to the

quotient.

4 x6 =24 We used 24
objects out of the 27.
Subtract 27-24 and
there are 3 left over.
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cookies in the
last box. The
question asks,

how many - ]
cookies are in s ——
the last box.

4 x6=24. We used 24
objects out of the 27.
Subtract 27 - 24 and

there are 3 left over.
The answer to il

the questionis QUO"'IZHT 6R3
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